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PART — A : General Knowledge

Which battle was laid the foundation of the Mughal Empire ?
(\A/;}"llllc of Khanwa (B) Battle of Chanderi
(CY First battle of p (D) Second battle of Panipat
c BB wimraNsh Grasevmu Guggs: e QY SSarb 1 Gunri e1H ?
(A) gmasian Grinr (B) ¢56CsMy G »
QA swmsd Lrany e @ (D) @uedri_mp umesicis. Guimi

anipat

P 2. How many years tenure he Village Panchayats ?

(A) Ten years (BY Five years - (C) Six years
WEGIselatr Lsafssmeoh CISS VT 9 GTRIFGT 2 EZE
(A) USss oyeir@rosr 27

(D) Two years

C . ( ES] 2, GTT (R HGIT *
©) xnr @ (D) @uess(p) oyevrBscir

3. During the muscle fatigue which acid is accumulated in the muscles ?
(A) Citric acid

(B) tic acid
(C) Hydrochloric acig &Véﬁ

( actic acid
Sess CFmialdesr Cung e1ps epblevid Senssefsn CespwnSpg »
(A) & Ms <218levih (B) G195 oybevib ),
(@) a1~ Comg Garmhla <2/tBevib ( GUASLY & D 15lGVLDs
4. Amnesty International is an organisation which campaigns for
(A) Protection of animals from cruelty
/ (B) Protection of historic monuments
( rotection of human rights
(D) Protection of environment
& <2/LbGlesTarvLg. Q) etr_riGrayerred CIGSIGRILD HEMLDLIL) GTHMHS TS LATFFTgLD Clewieus o
(A) LDps ueng sELIL -
(B) eupevnmmy Flesresrmisaflesr LIM&ISTLILY ElgmE
( &l 2_flewoFseir UTEISTLILy =I5
(D) &omr @GLped LngismliLy

5. During the reign of the Buddhist Monk Fahien from China visited to India.
(A) andragupta — I (B) Samudragupta
/(G‘)}C':andragupta -1 (D) Kumaragupta —1I
wrpen L L FE Fnewdgleb Fatrencus Garips CUMESS BipeT LR uwimesr
0% SRS Wﬁ.@”ﬁ. - . o
'(@,E (pseTb FHHIGUST (B) supsBogLisi
(Q/@ga’a‘rl_ﬂl_b FHEB TS UIST o (D) wpsevnd GLomp@Lisi
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Which is the largest oil field in Indjq 9

\Y,

(A) Ankleshwar oil field .
(C) Gujarat coast oil field (wbu oil ficld
( umbai High oil ficld

@ﬁ-@wﬁaﬁ?w Lf.-i)asu.@urﬂw CuL Grrady, et Qlammi) QUGh 651 7
(B) SiisGaavart arartlam aigy, g

B) y@lwnGlul e Glem) : ,'4-1;?

( QU IV

(C) GLITS SLDS@®T eTeablewi auuch

(g,)/(gommu e 6TevrblenTis 6uwic

7, Name the upward force exerted by water on a floating or partially submerged body.

(A) Viscous force (B) Frictional force

/ﬁ( uoyant force (D) Gravitational force

Dg&ELD SeOeg LTGlweney Bifleh eppGluflwpdEid Qumgsele LigI BoTeS] (AERYEEA

(/ GuaCrras&lu alangulier Cluwt ererar ?

(A) ur&wev adlens (B) ogmiay oflens
(€ Bdiiy e (D) yafuficiy aflens
8. Match the following :
1) Shiv Nadar a) Pepsi Co.
2) Narayan Moorthy b) HCL
c) Infosys

3) Azim Premji

4) Indira Nooyi _\ d) Wipro
(A) b, c, a, d @A\ c, d, a (Cyc, b,a,d (D)d abc

Weraugauarapap CUTGSSIS :

1) aflés prmi a) QUUA Gupo> A ﬁi},’*/’i‘éﬁgcw
2) mrgmuenT Apiss b) HC{J . E5E
3) sighib 19Gibed ) @GUTan g

d) afliGym

4) @p@gr Hrud
(A) b, c, a, d Mc,d,a- (C)c,b,a,d (D)d, abc

' _ fence Forces
9, _in-Chief of the De (Bj/)ﬁ
The Commander-1n The President of India

(A) The Defence Minister
(C) The Prime Minister (D) None of the above

10 9GSl wy ?
] L_-rfﬁﬁfﬂm g@'ﬁ)ﬁvm @/‘
@ MGISMLIL] LD @BEL G IWTHS SEGAT -

———

(A) ungasmor] S L&l

() Sggioi T --

(D) Gupsea_ c1gia)b (G)evema
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10. Match the following :
I) Green Carbon
IT) Grey Carbon
III) Blue Carbon
IV) Brown Carbon

a) Carbon stored in Industrialized forests
b) Carbon stored in almosphere and ocean
c) Carbon stored in fossil fye]

d) Carbon stored in biosphere

IAII III 1V

M c b a -

(B)a b ¢ d QF_@I
el

CO)b ¢ d a

(D)a b d ¢

Qumrrsss :

) usews sriudr  a) Clsmbled MBwms 2 BUTSSLILBILD Ha(HS5aRen Cahlds @i
& ITITLIGET

II) #mbued s
) Aev &miLer
IV) wgpliy smiuer

b) euefloesr_cvih LODMILD FHL_60a 6y Crfldasi@b smier
¢) Clsmebaudi L e erGlmmair CHAGHSLILGD Smitic
d) 2.ufigCsrens@sw Crllesiu®b saiucr

K//’II Il 1v
(K)d ¢ b ae

(B)a b ¢ (¢
Cb ¢ d a
D)a b d ¢

11. StatementI: NITI Aayog
(a) Is a Think-Tank. ~

(b) It replaced Planning Commission of India. """

2 SHANKAR

Statement I : (c) Is headed b the Presi f India. PM N
(c) y resident of In B REAE Semy

(d) It has establishedi 2o\S

(AT only correct (B) II only correct
(C) I'and II correct (D) Iand II wrong

urEFubl: BB o CGuns 0

(a) @& FEsemar S Lh. E?ﬁ

(b) @pBuwrallr Bi1_ g pafipe LB =GUTSSLUL L g).
unSEw IT : (¢) B8 <oCunéFar SDaeut L LIFS gm@ﬁ'ﬁh—oﬁgwn

(d) 518 <=Cunsfenes j}ﬁmu;)atg;ﬂuf—l— %mf 1S
(%f_'@uo & - (B) I wor_ @b &

(D) 1

(C) I wpmyi 11 &)

LopmILD Il goumi
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;2: - which product Nachiarkoil has received G tag ?

(A) Mat- (B) Coconut
C ( uthuvilakku (D) Bronze icons
/ ﬁng@wnr’r Garaileh eb% 2 DUSHL Qunmendw Lol s1i GDUE QupmyeiTaTdl ?
(A) L) (B) Gsmismu QLG pasaflons@(D) Qasamsewd G
13. /waves used for cellular phones to transmit voice communication in UHF (Ultra
H‘-gl}:{aq’uency) band. .
; E5E
( adio waves (B) Micro waves E,’g:;,'
(C) Betarays (D) Sound waves
y>\ (Bo wit B iGeuesT Ll eLsafleh Cleweu@Ld M@ &I SHGUGY
QamiLiel D6V LIWGTLRSDG).
( T Gum S EEVSET o (B) emtn&Gom DY VEHGT
(C) S sGliser (D) @& gyemesar

14. What is virtual water ?
(A) Water hidden in clouds
(B) Water available below the surface of the earth which is not easily accessible

& (C) Water that can be ordered online

ater consumed in the production process of an Agricultural/lndustrial product

3

DeDBT GTGTDIGY GTEHTET ?

(A) Guosnisafls) LoeDBBHSEGD B

(B) yLilé& g ufled @BHSGLD Bit, ETTEV sreM@lev GlenL S&HM1S

(C) wepEey @enaruaLfluns QD EPLY LD

(mé:;pﬁﬁ TS eSleugFmuULD g Csmplpsrae o pugPIaT Gung) HISTLILRIUD
B oemmBIT eTewT g{mbpéﬁﬂu@@.@@' -

15. Which of the following exhibit both living Wﬁving characters ?
(A) Bacteria trus
/~ (C) Fungi
@ Epsan_apde gl =G wlﬁfﬁ’d’(
(A) wngemlwm
(C) yepoms

(D) Protozoa
;%ﬂ) LT senar Gaualiu@ S5 DS
EOEUTE o .
(D) yGur_GLnGsmreum r@}%
[Eewr

16. ‘ up ?
Who discovered Blood Group (B) Banting

(A) Louis Pasteur (Q)/lﬁ)ssteiner

/ (C) Holst . e
V Q055 euarsILITL L et HLIGEE e GL;. i
(A) ayrflaiv LW 1
(C) Gapsveu.

( el avGl_uiG)BT «
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19.

20.

C

e o . . . et . s, e g e e e e e e

Statement I : The combined forces of the Deccan Sultanates defeated Vijayanagar in
1565 AD (CE) at the Battle of Talikota.

Statement II : The Vijayanagar empire then shifted their capital further eventually to
o e

( only correct ) Il only correct Cit

(C) I and II correct (D) Iand II wrong

urs&Swib I : &)..9. (Clum.gp) 1565 — 6b samavaGasr enr. Gurlleh s&smewt
&S MTSeNeT HmL BiLmL aNwrsy gme CsTHeiySSeTi.

urs&Sund 11 : afeowssgts Guigs Corbails@l B @QnSwuns saig Saa BT
crous,
AV e Gib & (B) 1I ot (b &1l

©) I opmuin 11 &M (D) 1 wpmb II seumy

- POCSO Act, 2012 gives protection to whom ?

(A) Girl child below 18 years of age
(B) Male child below 18 years of age
( oth Male and Girl child below 18 years of age

(D) Female above 18 years of age = a-lc,A/Tg/f\DREMYW

GungGam &1 _1b, 2012 WT(HS& LUngSTULEEDS 7 r—
(A) 18 awwsgy Blgbuing GClueis Gpieas

(B) 13-aunwgy BlgibLing e @ppams

(&) 18 auwsgy Blyibuns yevr womib GlLisser SLHES

(D) 18 euwgy plgbiur Gluetsr @ipbens

Phenolphthalein as an indicator which gives colour in basic solution.
(A) Green (B) Blu
(C) Yellow (m/mfkv

NeaTISeeT @6 BDBIST 1Y, @& S15é HangFaSey AENOEIETT Bmib

(A) usems (B) Savii | | !@‘%@
(C) oEpoar ( aTEsFULIL) o B,

Boston Tea Party in 1773, incident was related to War of Independence,
(A) Russian (B) French . C erican (D) Chinese

1773-@)eb Bloipis umavLcr Gapit ellwig aps 50 @smers Gumg, o
Qe W/
(A) gegwm (B) digmeiraiv (€ &Quolésm (D) Gagn
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21. Who is Malala Yousaf Zai ?
A Pakistan activist for fem
(B) Beauty Quecen — 2021

(C) Olympic medal winner athlete from pal:«f.
(D) Pakistani Actor 1 Pakistan

P\ LOGUIT WFL FMUI GTGTLIOUT wimy o
(AY ©uesst s6vaNgEm6T 1175
(B) 2021 &1 21p& gmemil
(C) @@L Lssab CQassiip LDy,
(D) UAFGVSAGT BLg &1 ‘

ale education

SIS 9 im0

Mest Hi_BHem algr

22. Choose the correct option. @4E

. . . L) Z)
i) Linear motion a) Movement of a swing  Eev
ii) Circular motion

. i b) A particle falling vertically downwards to the Earth
iii) Rotational motion =c¢) Motion of satellite around the Earth
sl iv) Vibratory motion >d) Spinning of Earth about its own axis

i i i v

i
(A)b ¢ a d
B)d, a c b
(G c d a
(D)c a d b
Flwnesr @)emaewstenwd, G605 0).
i) CrisGar (B @)uidhsLb ) 25165 F 0T (@)W H LD

i) eul L @uésib Gb) yeludensn Cpad& afipt Glum s

iii) s1pp& @udsib 3c) yallflenend sppih QswpenssCarsr Gussid

V) @iBia) @uéasid d) Sgemsts QU35 ZsTaSs1Gem SHDILD b
LU | B [ A

(A)b c a d

B)d a c b 250

( N d a . [Eews

(D)c a d b

23. ?X;C([))Siesgi:haride (‘BAonosaccharide

% (C) POlysaccharide (D) Isoleucine

G Gamen 6TeTLIS]
(A) @olenL_g sissed
(©C) sl B& sridseT

( @.D.Gmﬂja'-' 5ﬁ$55@g’ .
(D) gCsmayenasir
“The Monk who Sold His Ferrari™ is

— (BY Robin Sharma
(D) Stephen Covey

24, The author of the book
(A) Shiv Khera

% . (C) Prakash Aiyar L S .
“The Monk Who Sold His Ferrari GISD US5F, o Z GT.@,@UJQJH
JTLNGYT GFITLDIT =
((1(’1\:; GLIEQQJ Gagm . (D) evieust Gsral
. g&may o / ——
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25. Find thecorrectly matched pair.

(A Garlic — Anti inflammatory cures skin discase
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(B) Cardamon — Cures for skin and urinary problems
(C) Red Chilli - Used to reduce blood sugar
(D) Asafoetida - Vitamin — A rich

P\ Fiwger Qevewerw Gziay OFis.
(X gy - IS ALy 2pnF, Carst afwrenw ST S H/LD
(B) svdanws — Gzrev whnb Hnyfrs Canarmgysenar &) GFuiyLh

(C) Fauiy Wersmis — Q133350 Fidaangulsit ymemey s HLUILGSSHILD »

(D) QupsisTun - o udissss A @SB wreaz
/ - At what temperature will the Celsius and the Fahrenheit values be egual 7 Ee¥<
\y), o(.~\ZD*40~ (B) + 100° (C) 0° (D —40°
g"ll oY &% G’G)Ji_'/uj‘msvui’si) Csbflwaiv oyarayd LimysirasL QYL FBLOTH Q)(BSEGLD ?
3 (A) ~40° (B) + 100° (C) 0° (DY~ 40°.
27. Dr. Verghese Kurein is the Father of Revolution.

~~(Ay"White Revolution (B) Green Revolution

Y ] (C) Blue Revolution (D) Red Revolution
s P\ (LpenaTaut sauigann FAWET eraiTit Yol SulesT shens stewr DD PSHELY
uBF .

(AT Geussreniors gl &) »

(B) useowl yr &
(C) povly Yo' &

(D) &euliys ygi” @

28. Which layer of the atmosphere protect us from falling meteors ?
A) Exosphere

(B) Thermosphere
(Cy"Mesosphere

(D) Stratosphere

aflerrGlasstudedBhgy afliph aflasransefss w55 B LIS Lb SR 615
(A) Qaalw®ss (B) Qaulius®ss o

() Qo whss (D) UL w@ES %ﬁ
29. Which of the following is not a condition for becoming the citizen of India 9
(Ajj}&h (B) Descent
_~~  (GLAcquiring property

(D) Naturalization

Z1p 55 _enausaleh 6165 T @)D, @lguion QU o
C (A) Umuiie apsulh

e

-’:‘5](93@7.@ Heey o
(B) oubgm outfludlein epovipy

langgyfienin Oluminises epavth « (D) (@)L @Luilenip eLPGULD











E‘.ﬁ_ 9 C
et . Acid rain is cause o :
0. statement 1 Af" s caused due 1o the precence of S - dioxides and oxides of
3 Nitrogen in the ;1tnmf~'phu‘rc ‘le/s,nu of Sulphur dioxides an =
ll . A ‘.d C in i Y ¥ (A ' i
et tement | i:]co::;lcllls helpful for the growth of marine life. X
/ R : t] ) d1l (B) Statement I1 is correct
(C) Staterment £ &1 are cotrect (D) Statement | and Il arc incorreclt
P\ gpml 1 : émﬂf;vmmgp‘ ol LoewTL cugFleb o airar FeLLIT G ydana () LwHDILD
. ) mﬁ%g‘ﬁp{aﬂm_%atmg@&mnsb 2 (HUTH DI
spm W .rﬂan_au B eump 2 uRewsgsn i@ ILblVLDEDLp 2 50| H D5
( .E'?QJ}E s (B) gapmy I &
(C) &ppy 1 LLDDILD I & (D) &pay | wpmib 11 @101
31. Statement I : 44“‘_ Chess Olympiad games held at Mamallapuram near Chennal
during 2022. ‘
- 2 @5
statement II - Chess Olympiad games are conducted once i@ars. Glens
R ( only correct (B) Il only correct
(C) Tand II correct (D) Tand Il wrong
amd@win | : 44 g Qeev gedliblwr Curl g ser GlosTeareis 21035
P\ wrevevgsHed 2022 tb au(HLLD peoL_ClUDDSI.
wré@uwid I1: Qzeov @aflbllwur’ 4 (E1BHFEEsE RGLPPD BL @ CuIL g wiGLb.
( oL (b &rile (B) Il @b &M
(C) I opmytb 11 &) (D) | wpayib 11 geum
32. In which district is Pulangunichi Inscription found ?
(A) Virudhunagar (B) T_ icorin _
(C) Tirunelveli ( ivagangal
\Y yemiigBEs FeuBeul_(® aEGGLﬂG]L_@cS'E-&L'!LJL'_I_.LDﬂ.GULI_Lb 615 ?
(A) a9BSIBST (B) 5155146&%
(C) BBOBCeuas - D) Flousmiens
33. Which is the capital of Ukraine ? '
(A) Moscow (E«)/Ifu?v
9 (C) St. Petersburg (D), Lviyy
2 sengelen sepapSID 15 7 By G - 3 SHANKAR
e i g D) ofefley D58 S IAS ACADEMY
(C) @5!15)6'8’”; L?L._l_.ﬁ@;u tJfTC']; E];ﬁ? The Best IAS Academy in India
. . ich i de up of
34. Fuse is a strip of alloy wire * hich s 102 (p cad and tin
(A) Antimony and tin (D) Copper and iron

(C) Platinum and lead
) AUNETIEY & E X ANIRIO ALY,
thes : gak FXD” ’ NP I e
% (AW ”—@'@ 515 2—(3_@ ; i ( aueiafuh Lommith s «
(C} Q%J,mqwsnﬂ LL,@.LDJ;I} O’_)Ja—hrgfﬂljlh (D) smblgth wpmith @)upibe]
L) 4 ‘el LpmIiL 2
e eIy enin LD

——
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35. What is the expansion of RT-PCR ?
(A) Real Time — Polymerase Chain Reaction
(By"Reverse Transcription — Polymerase Chain Reaction
/ (C) Reverse Transcription — Positive Chain Reaction
@ (D) Reverse Transcription — Polymerase Covid Reaction

RT-PCR @e1 alfeundaid ettt o

(A) Mlweb emi_tb — el Qe Glaufasr Mwngayesr

(BY Meuriev g prerev@Aiapet — LmeSwQrav Qwufeir Muwsrdeayesr .
(C) Mourev 19 presrav@ Miiayer — L&y &1 Qauiest Muwndaper

(D) feudan g grnarev&lfliieyet — LmeSlwGreavy Csradl” Mwindayest

@ “Vyomamitra® a lady robot — related to FS}:%]
aganyaan Mission (B) Mangalyaan Mission
(C) Chandrayaan Mission (D) PSLV - C46 Mission
A ‘N CwroLfg g e1681ey)/LD ‘Glesst ConGum’ TSI G QlBmL_iLyemt_uig 2
(AVSsestwunest S (b (B) wmismerwner S b
(C) sB@omuet B 1b (D) A.erov.6160.09. — B 46 B 1b

37. Statement I : Three systems of revenue collection had been introduced by the British.
Statement II : ‘Ryot’ means cultivator.

(A) Tonly correct (B) Il only correct
/ ( and II correct (D) I'and II wrong
ouns&wid 1 : 94518 Coowrigemmsd eparny euenswme QBT GUEHGD (Lpenm
B UPSILIBRSS UL gy
eunsGwid Il : gws eresimmed afleusmud) eratrmy GlLm(peT.
(A) T ol @b &M (B) Il o ®ib &M
( wopmyd IT &M . (D) I wpmyid 11 eumy

38. India’s Gaganyaan Mission is related to
( uman Space Flight Programme
(B) Artificial Rain Scheme . .
(C) Scheme on Rain Water Harvesting EE%@
(D) Scheme on Electric Vehicles

@5@ QNGET &3 GTIITGET b6y GiT STEGIL_GiT G)SAL_TL{eOL WG ?
(AYVoefls allessGleuall LweTSSL ( 1h .

(B) Glewpens wewrp &)1 b

(C) weorppi CoasMiiy B 1 b

(D) Wletrgny eunserisesdsnes § b 8 SIHANKAR )
e s AAS-ACADEMY.

sssssssss The Best IAS Academy in India
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9: Match the following :

3
i) Rani Ramp'al a) Weight lifting
ii) Mithali Raj b) Running
iii) Hima Das ¢) Cricket
iv) Mirabai Chanu >d) Hockey

(A)C’d’a’b (B)a, b, c, d
©dc ab (Qm,);, b, a

SarauataTeupenn Clummss)s |

O i) gmesstl gALbLIMGY 2) LEBEIGEHD
ii) tBgmad] 71e2 b) eGs B30
iii) @flLom gmaiv ¢) Ofs0sr B
v) tigmumis FTeg) d) amms&) |

(A) C, d: a, b (EL?, C, d
(C)d'-'c’ a’b ( ,C,b,ai

40. Which one is required to produce acceleration of a-body ?

(A) Velocity ( orce
7~ (C) Density (D) Displacement
% Bipseim_eupmyen CUTGAIDEG W858 DT TOURSHVS! TS 7 g e~
(A) BensGousid aflens - ) R

C) oyLisH (D) @LLiQuwiss

41. Which Article provides t
-~ (A) Article-21  (BY Article-32
% 2 &5 FRbcpSBaT apLd @4w$5@a’;@ S FFLOLIL] FLL urﬂas{mu‘o CumIeUsSDHS

TS o myLiL] GULPleIEHS WGl ?
A) o giy-21  (By 232

42, Statement I : Vegetables and fruits are .appealing becau§e of their.bright and variable

colours which are due to pigments present in the plastids of plant cells.\V/”

_ 11 is the green pigment of leafy vegetables..~™
/tement IT: Chlorophy (B) 1I only correct EE
YTy

(A) Lonly correct (D) Iand [l wrong . =%
( and II correct

onstitutional Remedies to the citizens at the Supreme Court ?
(C) Article-15 (D) Article-18

(C) emiiy-15 (D) 2 myiiy-18

s el saflsiigealayerer Hpblsenmcy, Smiismslser

wrgRunn 1 g & : . ’ :
gGw 1 sl .\ Gl BETEETE FQUGLD gsnswner L alls BmEisaiey

: £ GG
& urgSwip 11 ;ﬂéﬁuggﬁi@@ srepitd BIDLE SMISDI% @S G LIS Bndens
? o1l
L ks (B) 1l i @b oM

(A) I we @b (D) T opmyii
_ mmiib [l Haimi
(leﬁg@m 1 & S

- —,
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Match the following :
a) India 1) Dollar
b) /\ustrali><2) Rupee
¢) Malaysia Riyal
d) Saudi /\rabﬂ><4) Ringgit
(A)3,2, 1,4 @)/] 4,3 (C)1,2,3 4 (D)4 3, 2,1

(5 OlLinms 35

: . 21
a) QB ) mevr E]w"g
b) <9avDCredusn 2) emuimi
¢) Gew&uwin 3) Mwmrev
d) soys c@/@glﬁ?wn 4) Mmig
(A) 3, 2. 1. gaa/l 4,3, (C)1,2,3,4 (D)4, 3, 2,1
44. Statement I : Since snakes do not have legs, they use their muscles and scales to move.
Statement I1 : Movement of snake is callc g\i'\"/\&:ﬂyﬁ
( only correct ' (B) 1T only correct
(C) Tand II correct (D) TI'and Il wrong
WIGEwWLD 1 : LUMbUSEpsE STOSET Benl_wWig). FHIUSDHE e SHISME SOFEH
P\ Lopmith CFFOHMGTLI LWGTLIRSSH D er.
unsGuad Il 1 by psicug Bsks seoige eramiiLi(BLb.
( L Qb & (B) Il @b &M
(C) I wpmyd 11 &l . ' (D) I wpmyb 11 soumy
45. Whereis Manas Biosphere Reserve is located ?
(AY Assam (B) Meghalaya
/ (C) West Bengal (D) Himachal Pradesh
P e o uiisGsnans SMLLSLD GTEIE e bSIGTETE
(AY yaveumih » (B) Gusreowm
(C) Com® wmsLb (D) @unésew gGgFLb
46. became the first European power to establish trade link with India.
(Ay Portuguese (B) French

/(C) Danes (D) Dutch

5@ ayL6tT cuewils 2 peney Blmyalw (wpsed eGrmiNw B ig e

Lmid S SF Wi (B) 9Q)g@sFsMart )
(C) GL_aflagm (D) L&&:&amar g;}g
!'?'\E«
47. World AIDS Day is observed on
A) October -2 Wember— 1

(b 2 & T 6V Bl eysfssliu®w srer,~ 00000
(A) 2&6GLmuir -2 ( LT - [.





L]

ﬁ | -13.

s Statement I : Lapserate is the decrease of Temperature at the rate of 6.5°C for every
1000 meters of ascent.

/ gtatement II :  Jet streams are the faitlyqng winds blowing in a narrow zone in the
upper atmosphere,

[=)7% (=]
(A) T only correct (B) Il only correct it

and Il correct (D) land 11 wrong

Stateme“tl : @@JL'!U@GB'),DG)J Qﬂ@ng ﬂGﬁT'g)nd) @Gﬁ@mn@ 1000 LB o_rr &Wﬂ.ﬁ'.@.‘fb@m
6.5°C eret1p VALY IR Cleuiufena & DULLD.
Statement 11+ auailioaim_aws@er o wir oy@é@safe GnSu uGssalsd Golsons
C BEGL SMDDIser “Ce sipmser” asn@Gpmib.
Wm & (B) Il @b &M
opmtb 1T &f (D) T wopmyib 1T eumy
49. Statement I : A Town Wat has about 10,000 population. It is between a village and
a city.
. Statement IT : Those areas which have a population of more than one lakh and high amount
Py

of revenue and is found in the level below the City Municipal Corporation
is called a Municipality.

(A) I only correct (B) I only correct

MII correct (D) Tand I wrong

wisBund I : somr 10 gyuigh Cui aimpssmyw sagrs @ ppgre Guepgm &)
cTertIL@h. @8 FETEPDGLD, GIITSFDGLd @)enL LI 1 e,

wiESwin I1 : wrrsgl 8é@ OS5 ploodle, @6 Wl ss5i156Lh HYBswrar
Léaer OsTamsuL s, UBNTL B @BSEGLD corfser BT &)

aTeuTLILI(HILD. L Op0
A) I @b & - (B) I LDf_@.LD &l BEH
(X opayn 1T oh (D) Troppib Il sasp

Which district of Tamil Nadu, G- Nammalvar a supporter and expert of organic farming
founded-va 2
i anagam ’ (B) Salem

© Namakkal (D) Tirunelveli

Qubens Goarreianiouda &ngmﬂmﬁ Lppitb aidgypgrer Gsr. BLOLOmPeu
DY) Pogap . s D 0T 551_5?50,05”’—4@ oTRI(& ,"ﬁ@}mﬂmnfr ?
; .mmg) YNNI (B) Goootds
kBT .

: D GlBal
L0 gy D) Bolpile

e —

— .
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1
SL. Countries where Tamil is an official language are
(A) Pakistan and Nepal (B) Capada, Malaysia
~~ (©) Mauritius, Seychelles ( ingapore, Sri Lanka
v SI) 2@y 6ush Comfwns o erer sa@aen , 2 &LD
(A) un®evg s, Grumerd (B) sar_m, inCavGuwm

(C) Curdafuian, O)Fayeva D) Bsisiyi, @evkiend »

@Co[our of the sun appears red at Sunrise and Sunset because of E’,@?
(A) Mie Scattering l‘&)%lgy]eigh’s Scattering LY,
(C) Raman Scattering (D) Tyndall Scattering
9 & 2 swib wpmyh wapaller Gung @Mwer Pariuns sm Hwelés syt
(A) B-gafls@spe 11Gev @efld@gmeb
(C) @urwar gafifgmen (D) wesw_ned geafdé@smed

53. Match the following :
(National Parks) (States)

) Gir —————> a) Gujarat

IT) Ranthambore ~—————>b) Rajasthan
/ III) Sanjay Gandhi ————>¢) Maharashtra

IV) Corbet —————> d) Uttarakhand

1IAT I 1V
(A~)a/le c d

B)a d ¢ b
C)c d a b ,
((D; c a b d B AL G emy
Qumms g% :
(Co&us Lymizm) (Lomblevi)
P\ I) & a) GeoTs
II) ghsbCumi b) srsevs e
II) Fepews sm155) C) Lo&TgTeYL g7
IV) smieluc. d) 2 dggsmem
A1 III 1V
(A Ya b ¢ d- .
B)a d ¢ b %&%
(C)c d a b il
(D)c a b d
54. Which of the following is an dielectric ?
/ (A) Silver (B) Copper (Cy Glass (D) Iron
(. Bipsaeraupner TG L gz s1_ggms GG agy o
(A) Gaysirad) (B) smblgip (C) Gamemmy. « (D) @iy
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5, Sclcct(hecorrect answer. A

&5
(A) Rajya Sabha embers 294
(B) T amil Nadu Legislature nembcrs

(€ Lok Sabha — 545 members

(D) pondicherry Legislature nelﬁ%gs

C shwrer aflaLmws Csib0lsd.
(A) wrBlevmgarenes — 300 oy Qeriser
(B) sLblp& FLL_LoGIDLD — 120 2 myi Yesrrisseir HEE
(€ Bssaredas — 545 o i Seisar Cida

(D) unessrg&Gel FLL_1oaiTpib — 100 2 gy Yewiser

56. Which of the following mineral deficiency causes anaemia ?

(A) Iodine (B) Calcium

O (C) Sodium (R)Tron

BupéaasL G1hS NS Gepailamey @)rss Cerans apuUBSDE ?

(A oCumgeir , (B) &TEOFUWILD (C) G&mguwib @) wibLy
57, According to 2011 census which State of India has lowest literacy rate ?

(A) Uttar Pradesh (Whar

(C) Maharashtra (D) Odisha

@ 2011 tb &FTClBTDS Fes315 G\ B LG LIy @pBwnailer 1S LoMplevd G@DES
Tupsshlay B> Camem@eTaS ?
(A) 288711 NgCH&FLD

(C) wargrayLyom

Of:40)]
(BY s Bl

(D) gyopT

$8. The first telescope was invented by
(B) Galileo

ann Lippershey
(D) Claudius Ptolemy

(C) Johannes Kepler
(HUTEFIWIGUIT

P\ @ gedr QpnammGersET =
‘Aé P (B) saleSiGwm
& L

. (D) Hermgwev mevLbl
(C) Congsireman QLo ) ?

——
— e
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59. Match the following :
State Crops
1) Karnataka a) QOil seeds
1) Assam b) Rubber Q;?I%l
1) Kerala ¢) Tea e
IV) Gujarat Ad) Coffec
/ LI 11 1V
Md/c b a
(B)a b ¢ d
(C)c d b a
D)b ¢ a d
ClumBS g s :
LomhlevLd uulliser
P D) sipm_sr a) arewGlewsys aflgg)sser
il) @yevevmb b) @uliud
[I) Csgerm c) GCsullenev
IV) @eoms d) sm
I _II III 1V
()Aad/lc b a-
Bya b c d SHANKAR
(Cc d b ax > IAS ACADEMY"
(D)b ¢ a d

60. Taxes can be used as an instrument for controlling
nflation (B) Deﬂatiop (C) Stagflation (D) Disinflation

A ol eTaTLS 0% SLQLILIESSID &FHONEGT QeTDIs LGRS SR Da).

Ay uewaissd « (B) ueweun b (C) Gsssalésd (D) wler uenralsdsin

61. Which Newspaper was started by Tilak ?
(By@n

(A) Commonwheel E]

/ (C) Chakaravarthini (D) Swadesamitran Elnf
% BDevsgred CeTLmSILL L USEMSmeufer G)UwT
(A) smweiraieh ( F&IM

(C) s&geuisGef (D) &6§J@§@UW

- - rra —
e e s —— S, seus s s —_—
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ﬂ.
%z . grganisms such as Snails, i
62 Marine 078 Oysters She ;4 made up of
Wm Carbonate
( (B) Calcium Chloride

Calcium Sulphate
/(C) (D) Ca]Cium Oxide

: i, G961 Cunes T

A Lyu@@m@
SQ L LG .
(A)BrVFWLL SMTHLEIL (B) srcb@wib @Germang®

©) srvfud FeGuL (D) srev@uwib aps@av(®

¢3, When was the Madras State renamed as Tamil Nady

(A) 1968 (B) 1971

/ 01969 (D) 1970

O LSTTaV wmplevid eriGuimg) SLUNDET® etewr Quwist wappLb ClUPOS! ?
(A) 1968 (B) 1971 '
969 » (D) 1970

64, is called “Coagulation Vitamin”.

(A) B, (B) E
1 (ey{ (D) A

C @Qrssb 2 pumusEGLD 2 Uil
(®) B, (B) B
K- B) A

du Indira Gandhi Wildlife Sanctuary is located ?

65. Iﬂystrict of Tamil Na
(& Coimbatore ) e /@JE'
i 1 E ¢'|I!
(C) Kancheepuram (D) Tirunelvel: ol
A BT 10 6 @;ﬁ@gﬂﬁﬂﬁ,@ eTalevE @ FgemTIeVWLD 6THS LreuL L $F60
DL G 6T ?
e (B) #Ggr(®

SMULbHSSIT | (D) ®@6lrLCarad
©) sne5@ymb

_— -
— P
— ——
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66. Match the following :

I) Vellore Revolt a) 1831
) [1) Kol Revolt b) 1859
/ 1) The Great Rebellion c) 1806
IV) Indigo Revolt d) 1857
I I III 4 al\-lc.A/ﬁ'\\lésA/:\IDREM .
(AYc _-d a b . Tanctmn o hesths Academyinndia
BYc a d b [?j.gtl
©d c b a P
D)a b ¢ d
Qurmssis :
) Gouauri o & a) 1831
% 1) Gsneb Benis® b) 1859
D) Qu@kisevsd c) 1806
IV) s@Bevssmu Heoriss d) 1857
I II 111 1v
(A) ¢ a b
(BYc a d b.
Cd ¢c b a
D)a b ¢ d

67. What is the chemical used to detect any leakage in LPG cylinders ?

ercaptan (B) Propane

(C) Butane (D) Methane

LPG Salemr_isefley eumyssfalenand; saa_pu creimesr CeuG 1O Limpeir
P\ LWSTURSSUILIB S DS E]s.i,@

( woiGEL_ahr (B) yGuaGueir BEY

(C) Iy _Grair (D) w53Csetr

68. Mac Mohan line is the boundary line between
(A) India — Pakistan (B) Pakistan — Kashmir
( dia — China (D) India — Afghanistan

“Gus Comrsar Can®” aapapssiu@ib aaamas GsrE) THS @)

C/ BTHSE55S @mt_.G?qurngj
(A) @BBwT — un&levgme (B) wn@levgmest — saauLsi
CV@rBwr — Gar (D) @sPwr — Ylistrafavsmer .

R - —————— e o o o i, s o ——
e e o e, o, e, s
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69. gtatement I : Karuris known as “The Textile Capital” of Tamil Nadu. v

gtatement IT :  Tamil Nadu s the secong largest software exporter in the country nextto

Karnataka., ~
/ (A) 1 only correct (B) Il only correct
(€ Tand Il correct (D) Tand Il wrong

arsGwib 1 : Seni “SLOPBAL 19 6y OBsays same ST T e S SLILIBGIDSI -

OR{0|
e o
[Elpaer

(o qna®uib I : B iger e Lim(peir THDILR G HiET_sT0EE ABSSS15 SOPBTE
@usssLnaig) QUi gpmws QFtiiuytb LoABlGVLDTS 2 GITTE) -
(A) I @b &l (B) Il i @b &
womyb 11 & . (D) I wpmyb 11 seumi

70. The Headquarters of ‘BRICS’ organisation
(A) London mghai
(C) Bombay (D) Dhaka

@ Ifgav yemLotsLiesr Feeven ol Lb SYLOBSIETAT @)L LD
(A) ovair_i (B) Gpmiismi -

(C) ubymds (D) Ln&&T

tatement I : When the car engine is started with headlights turned on, they sometimes
men : g

become dim. ~ /

Statement IT : Due to the internal resistance of the car battery.
(B) 1I only correct

(A) I only correct
(D) Iand II wrong
and II correct

§aré@ STMLD Aemauiley aregdlane @)ws@bGLNE,
o Quasia) Bfs) GE@DULD. e

Iiirm
. s P@ SASLOFSDL S GLD-
. _— . o Ghrar WG
UTgE@unn Il : sahled 2- (B) II ol Fri

(2:“7'% - (D) 1 oy 1l seupy
(CLX wopmyeb 11 & » |

WEQuuip1 : smied wpeIH

(wpFUL aflans6)

& & SHANKAR
- B AS ACADEMY

The Best IAS Academy in India





atmosphere.
7~ ~ S
AV Global warming

(C) Climate change

A

Qarlir HenevenwQus
(%) yal Qeuiuwwionse »

() #1600 Aevav Db
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__1s the current increase in temperature of the Earth’s surface as well as j(s

(B) Acid rain

(D) Environment

Aot wHayth At o aror_s&w Lyh Lopmith euefMoessr_evib GHGLing ew,@asrﬂeﬁ@m

STIF G ib. ‘@w%%
(B) <yflev wemyp Eewr

(D) &pmid@ipev

73. The Oscar Awards for the best documentary was given to which among the following ?

{29 The Elephant Whispers
/(C) Slumdog Millionaire
P\ S eey
(A B a1090usir aflevisian »
(C) avevibr_nd hsvaweni
74. Find out the wrong pair.
I) Vedanthangal
7 Point Calimere
A‘)ﬂ;udumalai
I'V) Mundanthurai
(A) I—-a II-b
SUDTET Q)enenTeni &g,
% ) CGour_gsriise
) Carywizang
1) (pziwensv
IV) wpespgieop

(A)I-a ( I-b.

75. Jhisalmer wind park is located in
(A) Gujarat
(C) Odisha

ClgpusFs0nT HTDD) LBIST
(A) 32075

(C) mpiyapT

(B) Allis quiet in the Northern Front
(D) Dunkirk

b 6TBS YU UL GBDS * o evsi A" uUPmISOLL L g ?

(B) @b @av Gui. @6 § prisser Ligem
(D) Lear&is

a) Chengalpet v

b Vilopurarn] N agappect-hinany
c) Nilgiris "

d) Tirunelveli "

(C) M -c (D) IV -d
a) Glemisev (B
b) aflpLiygib
C) Saw&
d) 5@EsGaued
(C) HI-c (D) 1V —d
( ajasthan Eleviz

(D) Madhya Pradesh
@Gﬁ 9| GOLD [ F] TGS

( JTEEVE TGHT »

(D) wsHwir 9rCss1b
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N h

g [ildrcn’s Day is celebrated on Ny, 14" beeayge
7 Ch <the birthday of Tr. Jawaharly| Nc]m; N

it is the birthday of Mahatm, Gandh

0 [tis the birthday of Tr. Subash Chan

draB
(D) It has been declared so by UNQ o8¢

A @boﬁ'mgaidr Saib peutbu 14 )LD G’g,'@ @aﬂanLuu@wgﬁg;nm & TJETLD
fiewmey G L0 ) ]
(R BC BXEDEID 556 Avisaiss 135 g @5E
(B) LSBT SMHS SYouisalsy 055 Hanip )
(©) B@- FLme E587 GLineh sjaigang, Onss Barib

(D) giﬁﬂj ‘5”@5@-7 Fem Ly @G}-JQJITQI é’ﬁaﬂ,ﬁ'gﬁnﬁb

77, Match the following :

I) Law of Constant Proportion ._a) Sir William Crookes
Cathode rays b) James Chadwick
) Anode rays ) Joseph Proust
IV) Neutron d) Goldstein SHANKAR
I I Iv 25 IAS ACADEMY
\(X{: a d b
Ba b ¢ d
b ¢ a d
Md a b ¢
PO pip 9 ot i

) G5Gsn () siser b) Gagibait f’;—@ﬂf .
) =Garr(p s@rs6r c) Gggrat Libleneui-
V) Ay gretr d) Gama evies

I I Iv
m,\/? d b
B)a b ¢ d
b ¢ a d
Md a b c
@The list of eligible voters is calledas (B) Campaignroll g

(AY Electoral roll (D) Nominationroll gt

(C) Polling roll . o SemipbeLIBEDE.
ey UL ——— T AT
5}%’@?@7 mrfds%ﬂm”ﬁffﬂm . (B) wogtiyemy L 1guwed
( &S MeT uLL@‘Um’_' (D) ;_ﬂwwm.‘r VL!L'_LMUGiJ
O awunggafiy o =





79. Match the following :
I) Prithviraj Chauhan a) Slave Dynasty
II) Qutub-ud-din Aibal><b) Rajputs
IIT) Chengiz Khan >c) Sayyid Dynasty
IV) Khizr Khan d) Mongol
I I o v g8
(A)a b ¢ d Eig
B)d b a
(Gjb/: d c

M)c d a b

QuITESESIS :
) psaflogrsy ClFersmer  a) BIgenLD GULDFLD
(1) @suBer g0us b) @urgsSsi
1) Qemi&evsmer C) &FWGl QULDFLD
IV) &&ir smesr d) wmGsredwir
I I I 1v
(A)a b d

c
B)d b a
(&)/d d co
(D)c d a b

80. N):;v/?cies originates by the gradual accumulation of favourable variations — was told by
; [=]#%[=]
( arwin (B) Lamarck E?ﬁ
(C) Louis Pasteur (D) Emst Hackel

P( LGy SEGU(LPEDSETTE LI LILHG UITS G L. FISELDTET CoumyLin(msefeir
Qasm@LierTed LEW SDPleThiSeT o heurGeTng) CTeTm Sl
OV (B) evmomis

(C) aprudav LmevLguwii (D) eriarev. Glamdsey

N
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§l. Ch(’oijc lll%;ggem meaning of the idiom “Once Ina Blue Moon™
)\ d | .
[ M’ rarely (B) Randomly .
(D) Watching carefully
Choose the correct sentence. )
. ) . i
(A) Ne‘ her Man! nor Mohan were given a trophy g%[%
Keither Man! nor Mohan was given a trop]“_' 7 e
@ €) NCIﬂ:ICI' Mam nor Mohan have given a trop1}\~
(D) Mani neither nor Mohan is given a trophy 3

g3, Statement I = The idiom “Kick The Bucket’ means “to dic".
statement II - The idiom ‘Bad Egg’ means ‘A Dishonest or I1l-behaved Person’.

correct
“ {Orindlcomec D) Tt oroms
84. Fill'l\/IWithhigt:rbxls ni%ll_-ml 1of tlﬁe verb.
IfMa ella, she '
CoA) "I‘?i(“ (B) will be I&Isd/\%guld (D) would be -
85. Choose the word that can not be added after ‘Key’.
T’ (A) hole (B) board (C) note W{ 5
86. Fill in the blank.
Each of the teams given a trophy.
& (A) were (B) have (CY was - (D) does

87. Fill in the blank with the appropriate prepositional phrase.

I can’t accept your invitation a previous engagement.
(B) In case of

(- (A) Inspite of
(cyo@sgag to - (D) In the event of

88. Choose the right question tag for the following
9

') Heoftenslept, == 7 : £rs
(A) had not he (B) isn’the (C) wasn’t he ( idn’t he »
89. Match the following Antonyms :
I) Shady a) Calm
I1) Bored b) Sunny
IMT) Panic ) Stow
IV) Hasty d) Interested

4

I 0 G 1§ I
A (’Ad/b\ a c* E:i?

d

(B) a b c d EM
C
a

(€) d b a
D) ¢ d b - l
9. ch for the following sentence. \
00s orted form e \
e o want an ice cTeA™ SHANKAR .
' (s an ice cream =9 |IAS ACADEMY

(B)Ram 10]d Rakesh that he v.:mlu({‘ 21 icé eFeam
3 . Al at he wants ¢
(C) Ram said 1o Rakesh tha! l’w wants 1ce cream

B ”‘EJHRc_im told to f(al;cs}l that





91.

Y%
92.

<

93.

9.

100.
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SUDTGT (Qenemrenis STy

(A) Rewer — 2 paiesi (B) SWTT — ymeudmeurt .
(©) wepsat — aifluai (LY Gumppmt < Quilweui e G2l .
LDeOE + 6TGUALD GTaiTLIGmaTF CFidg) eT(LpSS-FHlevL &G Glgmev %ﬁ:-;:j

(A) emeveTELTLD toemavQlweumih
(C) we»evGlweveumLd « (D) oemeveTavevLh

aursGuid | 1 Qeliufsrgh wpsorer @oéRwuriselayh LpoGUTEGET
QuuamLImoTeney eTeianith @vssent Kradayd amnGsmer GPSSI%

FpLUILL (HETETS/. :
auns@aw 1l : agnsepasesd GBSS5% Fmitb gﬂc&i)(urﬂum__@b. lga&wamgs '
(AYT ol ®1ib &l (B) II tor" @b &
(C) 1 wopmid 11 &M « (D) I wommyib 11 seumy
1S aips oo IBAWd QMg — @)FCsm_Md 2 drer Y psmars BB
GT(LPSI 5.
(A) oyms auingl Seuey wrPMuilevev C)5Mug).
(B) #idis aurE@peut deueng wrBMudever ClsAEDS.
(€Y G5 aumESpeut SeuangiGued sysveveurn GlsMEpmt. -
(D) %Gs euimg e muievev O\sME .
‘aflaLbLieh 2anf) sarppoanp GlFevev’
219 885me L 1 Genevaler @)evsisend GmlLL
AV PGS Clgmi . (B) @ e»_s&eral)
(C) AmyQsL L e@iwean Guwyésd (D) Csmpflneluwi

. ‘D&M ereiTugeT ClLmmer

(A) B (B) @wipenev

( COGETF FEHEHILD (D) s@menewr

‘g1 LGaILLD — eTaiayid Glemsvenevls LINSS) 611ps5s HevL L1Lig)
(A) s+ Cleuliuh (B) gL + Glauliuh

(C) &L 1y + GeuLiih (DYV&L uth + GleulLith .

‘PHARMACIST’ — eraitLigpamar sanevd Oemevenevd Csinb6ls®dsajLb.
(AY @psressi.(B) w@ssan (C) GQeadlallwi (D) @b

. Bipssneib CFreelle @evssemtsGDILmUS s, EEE

13 ] R.":*'
Clsmy Clsoy o ik

(A) Osmppeluwi (B) (&S0 TLiT «

(C) QL eL_s&Fenad (D) ereucd genip allewastLpmmy

QaerenaTulled Lsps&s snaipns Bn@b LeGeum Hevadl, Flmyeuestniser

EI&Ceovwgned gnudssLLL L — aflant_&Csnm alem yenlods.

A) Glgctenatuilen Ls(psGd netons BEing uGeun sevall BlnjeueTmiEer wmgme
FHURSSIUL L 6 ? *

(B) Glgcstewaruilest Li&(psh@d Fnaipnss Blin@ b LuevGeun BlmeueTmIser wrgmed
FHU@SSLIULL 6] ?

(C) Qeetrenauilesr Syewwraronss Egpb LeGaumy Seflwmt BlneueTmISer wrgme)
FpUBSSLIULL 6 ?

(D) Gleerenamuiles L% (pd@&Hd Fnaipns Bln@ b uevGeun Fow BnieueTiIseT wrgme

IpUBRSS LI L6 ?
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P4 _
01. Find the number of squares given in the figure,

(A) 12 B9 4&1/0- (D) 11

LI (B 6T T 3 : . . .
Qer@sFILLGIETET UL SG16) erggamen FGITEIHGT o_GHETE ?

& Op10]
] S

(A) 12 (B) 9 (@K (D) 11

102. Arrange the words into meaningful sequence.
1) Vegetable 2) Market 3) Cutting
4) Cooking 5) Food
A) 1,2,3,4,5 (8041,3,4,5 (C) 3,1,2,5,4 (D) 5,2,1,3,4
@ TS OSEET IYTSSLpeTar euilensuileh 3j(B&Ha Lb.
1) smi 2) FHans 3) BOIGGS@D

4) geniowey 5) ofewray
(A) 1,2,3,4,5 2,1,3,4,5 - €) 3,1,2,5,4 (D)5,2,1,3,4

103. 5 girls A, R, D, S and V are sitting around a Pentagonal table. A is between R and D. S is to

the left of V. R is to the left of S. Who is to the right of A ? gm%%‘g
(A) S (B) D

(C)/l( (D) V

0 A,R,D, S wnmyb V 8w 5 @uaﬁﬂﬁ@ﬁ%@’@ﬁ”m Gengawd SO I LoibSIcTeTesTI.

R wpgyh D &g @G

R er6iriieuit S &@ @)L-GILIDLD 2 GITaI

A aarermi. S era@Lut V && QILGILDLD o aiTaTm.
. A @& euevg) LGSSEI @)L W 9

(B) DX

(A) S
L. (D) V DARR v







<

104.

105.

106.
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In a row of children, Bali is seventh from the lefl and Moli is fourth from the right. When

Bali and Moti exchange positions, Bali will be fificenth from the left. What will be Moti’s

position from right ? -
(A) Eighth (B) Fourth B0

(C) Eleventh (~D')4w]ell'th .

Gippengseiar afasudes, umed @_gi LpsRsd G)mis apras GSS@ib, Lopib
Congs) ewegimsBer @wis Brasaig @_sDayid 2 cirenesi. Lned HMID
Crss flensvaamer wapmid Guing, LineS Qg psHe @)BHSI LB THST05
QILsBe QBUUNM. wegLUDSHD @)mig) Guong@uflet flemev G[f‘bTGBT ?
(A) eTi__meugy K AT (B) mpreiisnaigy géﬁ’

(C) uBQeneD TG ¥ B 1:]' ) AlctresflgeunT_naugy) ,_:___;.M .4__—7 B <~;

Which one of the following diagram hc? depicts the relationship among E‘l@ﬁiml s, Wolvcs
and Animals ? + '

(B)

C)@) (D)@ O

Hletau@ib euengliLL migsefled 618y wiemaIsen, @BIIIGET HMILD a5V ) (& % 6T
QB Gweupple o peney ApLiuns HE5MGHmg

B
o@D 0D O

Select the one which is different from other three responses ?

3,4,5,9
(A) 3 4 ©) 5 D) 9.

o epetn USOSNGES Coumiul L gerenns Csii0ls®dsayb.
3,4,5,9

(A) 3 (B)y4

(©)5 (D) 9

I - ( SHANKAR .
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107. Statement I :s a perfect Square Number \7<
gtatement II : A cube has 6 faces,

[ only correct 8/
(A) Y B)11 only correct

d II correct
(C) lan (D) Iand IT wrong

O amsfuinl 108 wersi 9@ wap aiss STeRTeRTELD.
arbGWb I @@ Sa165815885@ 6 1pe g

GreTaT. @ E!
I ot Gib &), v
(€) I oppitd 1L & (D) 1 womyb Il saumy

108. Among A, B, C, D and E each having different amount of money. C has more money than

only E, B and A. Wh;:m/og them has the highest amount of money ?

(A) C D (C) E (D) B

(; A, B, C, D wppitd E eréirp @ig suisesn QeeGany Ao et
meusBpsEmiser. C ereireui E, B Lopmih A eweu el =SS LIGRTLD en6Us D) (H%
GDTIEET GTGIDIG, @&V Wit g(Heurt @58 FLAS6N 8% LIGRTLD eeus S LILImT
GG HeT(HLILg S L &(H%.
(A) C ( . (C) E (D) B

109. Ramesh goes towards North, turns right, then turns right again and then goes to the left.

Which direction is Ramesh facing now ?

( ast (B) West

(C) South (D) North

GLely creiTLIeu L d@ GETEE Erla S Lwefigg), K g Uy SGbL
P\ s grib Lwewlgg), L9667 LEGET(BILD aevsILDLD B(LbL Aflsy Gnuid Liwessisg), et
@Lg ymib Sl LwesE& D @UIClumps! Sjeurt 1SS Blavsamw Crra&L

uw & ? ' msm
A Blpss » (B) GLD'@.@ il |
(ORVETIE (D) L& )r—*j‘_; i
110. If the sum of two numbers is 14 and their difference is 10. Find the product of the two
numbers. &Vz/)
(A) 40 (B) 48 &24- (D) None of these
C- : s myLL a1 a9gGwnab 10 ereufled, 9B @)1 eTessigeietr
Q5 erarsencr s S 14 oppith SIS VS
AT B HITGUTS-
f}:;qf{g@ﬁ @ﬁﬂmas(eg)ujfgasﬂ M ) gordime








” . ()
& e

111. Which one is equal to (9a’b)* ?
(A) 9%a°b? (B) 18a’b’ (%: (D) 3%a’b’

& (9a’b)’ & &LoLomest eTevsT
(A) 9%a’b? (B) 18a’b’ (C)Y 3% (D) 3%a'b’

112. If A x B means A is the brother of B and A + B means A is the father of B then which one

means that ‘M’ is the nephew of ‘N’ ? E&S‘El
(A) N+M x K (BYKK+M. GEY
(C) MxK+N (D) KxM+N

‘% A X B eretimmed A erairieurt B uflesr G s g mdmith A+ B ereipmed A ereiticuri B uflesr
Sheng g wimestrev ‘M’ erestieur ‘N’ 6ir HNS TG LD&GHT GTTLIG] 61 ?
(A) N+MxK NxK+M chath—
C N+ ke N2
(C) MxK+N (D) KxM+N )

113. Which of the following diagram indicates the best relation between leaf, seed and root ?

4O)e > QD)

@@ O (D) @

(./ eieuBLd euenguUL Eiseflsh a8 Genev, aflens wpHmtd Geur SRSV YNELC;
Qe Cwwrer Apis Clsriemus GhsSns 2

(A)@Q (B)@@ g;ig
o O-
O

(

114. Find the side of the equilateral triangle of perimeter 129 cm. FSZ o &= 12
(A) 42 cm (BY43cm » : (C) 53 cm (D) 63 cm
@ R FUsSE (WECaTeSEe apmareay 129 Cl&.18 aafleh, osar 114 TG

& ITG80T .
QA’& (A) 42 cm @)/‘gtl:m (C) 53cm (D) 63 cm o ’;&

UE}









7 A family consisted of a man, his wife, his three 5o

: ns, their wives and three children in each
son’s family. How many members are

_ there in thejr family ? mam
L (B) 13 Blewt

{
© 15 Oy 17 v ¥
V @b GOLLSTD S5 6w, HUTF) Loemauras)

e @TAISGT LMD M)LD RI0uTH Loseir GO LSS ayih CLPGITMI (GO SSHGIT o aireeit.
GOLUSED TSS@aT 2 0111 ewisen o drorens ? |7

(A) 12 (B) 1
(€ 15 0)3/13) .
The following bar diagram shows the number of students who applied for, appeared at and passed

jna certain exam (in thousands) for a given period. Study the bar diagram carefully and answer
fie 3 questions that follows (116 — 11 8).

s DUTG| CLPGITM) LDS TG, %Wﬁdﬂﬂ"ﬁ

BpsauL QIILIL LD, @@ GO L sTwsl L &G, R GO L Csieys®
dlareT 965 LOTeRToUTEET cTatanshgana, eIpBlwalr oppib Csisd CUbm LoTewTaITST
sErelSmSW (QUITSHD) ST HANS). HereTiors UTLILIL_ GG LIl &) LIGTa LD
Jeflammain@ (116 — 118)aleni_ syayLb.

[XERE; 94 [ 95 | 96 | 97 | os

SU(BHL_LD

Applied
- efltremnnSEsant 202 | 204 | 210 | 208 | 212

] Appeared
sTapBusauit 198 | 200 | 202 | 202 | 206

Passed
120 | 115 | 120 | 122 | 126
| Go 744 GlLpmauns

[/ Applied (a9stsremrin 98 sa)
[] Appeared (srupBuwas)

e ]

cir G mymLILDITEHT Fgngh $569851b ereires 2 . | /
(B) 59
(D) 35

5/ &@ Oumns LD TGSaTEUTH 6]

220
B Passed (@sis8 @uppan) {
_. o as 2 €5
1994 1995 1996 1997 1 aL—» B2
Vhat is the approximate average percentage of fale s SR
(D) 35 B _,[E:?







117.

od

%

118.

119.

120.
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In which of the following years the number of students who did not appear at the exam i
the highest ?

(A) 94 (B) 95 C) 96 » (D) 97

ELp&TesnLb eu(FL_misafle, Csi1edi aunns Lonewauisalsr srevenlidas BHLIL Tioms,
@) (B Lb 6T (H) 6T ?

(A) 94 (B) 95 )96 (D) 97

<)
Which of the following years shows the best performance of the passed students ? Oof2¥
(A) 94 « (B) 95 (C) 96 @/9;6

Spsiesib eThs Y BTHFHafeL, Csidd Cupp wresTeuisefisr Epis Hoalami
Ceualium® STTLILI(BH S 6tTng) 2 u}l/ ’
(A) 94 (B) 95 (C) 96 98

Harish is taller than Charu, but shorter than Raju. Charu and Dhilip are of same height but
taller than Ashok, then which of the following option describes Dhilip ?

(:;\;/?{ish and Dhilip are of same height
1

( 1ilip is shorter than Harish
(C) Dhilip is shorter than Charu 2
(D) Dhilip is taller than Raju

FTIBe aill_ apfay o wrlomeTey s 2bATTD Jregdenar el (&6T6TLD TesTeu .
FI(HeyLb SOyt Fiolomes 2 WISH @) HEFmriser, 2Ty 9 Carsens o
2 WILDMESIeUTS6T 6Tanlleh, HSLs GmMlSs sopmisafisy SLpESeETL_cunpleh a1 Fifluwimesrgy o
(A) fafib BeSLyb Fio 2 WILPEHL_UIGUTHET ¥, 153

&B)@I;Su, anfeyenis alll_ & 6TarioresousTv" ‘;’ D

(C) 8611, snpenau @ Geraromemarsit ¥ ?

(D) ®eSt gnggvemeu a9 o wytoneseusiT< P

A shopkeeper bought a chair for ¥ 325 and sold it for T 350, Find the profit percentage.
9

(A) 7£% (B) 9=2%
13 13

9 Miv
(C) 6= % ( 137

R HOLSSTIT @ FIDSHTSmw X 325 616t alevevdi@ eummig) ¥ 35(
QlruiZB it erefled @evrt ssalsSenss FMewTs.

90 ﬁ /g?
(A) 78 9, (B) 954’ 2% = 252
13 Toe

5 (oo
. ‘\ﬂ_ . loo

¥

=
L0

%& M Lema
)32

' 3 T
b .
/3\{{,,&,
()

6"
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':
following table carefully and )
sdy the ¥ and answer the 3 questions given below (121 — 123).

Q&ﬂ@ag&gu:;@mm DL LG asTen iy Beira;

1-123) aflen_wefldsayib. Ly g1ad" (5 Brpset_ 3 aIa1nssS @55

(12

2E0)
College et
gl Degree
el Uf;gt_l_b A B C D E
B.A.
19.q7. 280 160 220 180 200 |
 SHANKAR
b se AL IAS ACADEMY
19. 616005, 140 150 120 100 140
B.Tech.
9.01_ 4 160 180 210 240 180
B.Com.
(9. S TLh. 230 190 250 210 200 |
273 ©
2 4
5‘%’\' 160 250, 130 220 210 21 o
) - L)
121. What is the total number of students studying B.A. and B.Sc. in colleges C, D and E a
together ? % d 220 1206
180 20
(A) 1230 @/980 20 o Al ‘%:
D) 970 2 ©
(©) 1010 \ (D) ‘10 2
C,D wmmyib E sevauriisaiieh B.A. Lopmitd B.Sc. L g &b Glonss wnr‘mmr'msrﬂa'n
CTTCRTGeOS TSSO ? (-Bo/) — 5
(A) 1230 960 »
(C) 1010 (D) 970
122. What is the ratio of the number of students studying B.Com. in the colleges A, B and C
together, to the number of students studying B.C.A. in colleges C, D and E together ? "
@AY 67 : (B) 60:36 mas BecoM. — ©
(C) 68 : 36 (D) 60 Beh  —
‘F\ A.Buo Hmyib C s6b o safev B.Com. (Lgi.asmb.) LI S(GHLD LOTGRTGLITSH 66T GTeE0TGss 15 0 (SHLD
C.D topmyd B a;gi)ggmﬂaawﬂsi) B.C.A. (Lj)_ga,@;r.) LILG S@GLD LDTCTeL 156V ﬂszfﬁrmsﬁé;masaﬁ(?r_b
>
o & . . i & 80
w67-@gw GTGHTGIT ? (B) 60: 36 S
36 D) 60:56 7 ©

 (©)68:36
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[l 123. What is the total number of students studying all the given degrees in college D ?
1 (A) 850 (B) 730 %%%
‘ ( 50 (D) 930

(/ D sevsurfufed Cl&T®&SSLILIL R eirer TS G UL L L1 LILFHeTU[LD LILG 5 & LD

|
l il Cliorgs remreuisefer cravranldens creiresr o
|
. (A) 85 (B) 730
(: 950 - (D) 930

124. Find the missing term in the following series.

I 1,6, 15,2, 45, 66, 91
(A) 25 (B) 26
| (C) 27 (Dy'2%
! O &C1p Casr@®SsLLr B erer eufenauile 6157@1_'1%‘;[_ 6TGUOTGE)GBIT & 68T (B LIL LG SF5 6 LD.
o 1, 20
1,6, 15,2, 45,66, 91 e 2%z
3 s
(A) 25 (B) 26 R
(C) 27 8o & X9
6w W2

I 125. If ‘Lilly’is called ‘Lotus’, ‘Lotus’ is called ‘Rose’, ‘Rose’is called ‘Sunflower’ and ‘Sunflower’

is called ‘Jasmine’ then which will be the National flower of India ?

(A) Lilly (B) Lotus g%%
(G)/Qse . (D) Sunflower

r
!: ‘aSlebas) Loevit ‘BMLbemy’ eTeayib ‘smivenr’ ‘Gurgem eTestayLh, ‘Gprgom ‘GMusnss’

U eTesTaYLb, ‘@GHMAWSTBEE), ‘1p6veSlens’ eTevrayLb QEOLPEHLILIL L 6D, @ESwrea s Gs&w

LDGUIT GTGoTGsT 2

(A) aSlet (B) SToen g
(64/4:;2 (D) @hwsnts
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sdy the following Pie graph carefully ang answer 2 question
,_ﬂaimf@m L QUTUL $60S Feuesipns; Litg 55
s IF @SS (126 - 127) LuBewalssayub,

Cost estimated by a family in renov

s given below (126 — 127).
&G Qan@Résiiul Herer

ation of their house. Total cost estimated is Rs. 1,20,000.
w@@abuwﬁmﬁ@m—"l it enL_cy HSI x50 Clssvay erp. 1,20,000 61607 OB L 1" (HeiTans).

Miscellaneous

2o
Architect fee Iilﬂgf
Flooring °
14%
Painting
15%
Electricals E
10% —==ZZZ:
Furniture _
_ : 5% AD ACADEMY”
umbing L | -
10% i RS

Interior
decoration
19%

126. What is the cost estimated by the family on painting and flooring together ?

(A) Rs. 36,500 Rs. 34,800
(C) Rs. 36,000 (D) Rs. 34,500

6 Quulehrig B wHmith SagGaiema RETDTS Ceigg @@bUL LT ClFaway
st 7 B’}/\ \c a1 =9 V.
(A) e. 36,500 (BY e. 34,800
(C) em. 36,000 (D) em. 34,500

127. What is the difference in the amount estimated by the family on Interior Decoration

[=]e%[u]
and Architect fees ? R 53
(A) Rs. 10,000 (B) Rs. 9,500 eatt

la-1 = € .
(C) Rs. 7.200 @y/RQ. 9,600
s. 7,

O -"—-G‘;TQJGE)_(D g{GUrE'JaEITULb LD;D'QJU'D g;t;Lq_L__é; 5‘56‘6}6&)@:? &Sl_.'_q;mg‘@@ @@Lbug';@mmmi)

e eraran GABHWIFLD 2

a UL & 1260
WL Glsrem (B) ¢, 9,500 Iy, =y |
(A) e5. 10,000 )%, 9,600 - e 29 % 12
C) em. 7,200 ’ 5 g
Cie. 7 13
___-___--‘- " I e T S e Y Ty e i el i et --_54-8 -0-»0.__

alL0o







129.

@ How many times in 12 hours the hands of a clock will be a{' right angles??

(A) 12 (B) 16

(C) 18 (D) 24 Dot

(b SYSTISHET ans 12 wenfl CridHe ergsemanr @mpk@gﬁ(é’anmg@@ ICT

(A) 120 B) 16 E35
O3
(©) 18 (D) 24

3 1 |
Saravanan’s father bought ZZm’ 2Em, 1Zm of cloth. Find the total length of the cloth

bought by him.

(A) 5 l m
4

(B) S%m

6lm .
2

1

FPCUGHTER)GOL U FHEnS MBS FiewsflulleT 9jara)sHer 2%:_8, Z%Lﬁ LopmyLb I%Lﬁ eTGsTIGy

QU eummGw gessilufesr Qongg HeTib

1
A S_LS H 3 @ - -
B 338 mm e 15
et 1) |o S 7
1 y 5 =
(B) 5715 U =
1 L









-35- C

51

130 yarun travelled 7 kms eastward, then turneq leftand r
n—ave“ed 7 kms. How far was he from the starting point ?

(A) 19 kms (B) 12 kms
(C) Tkms (

avelled 5 kms. Next he turned left and

kms
U awgar GpsE Crpns& 7 &)..8. vwellgsmi, Qe @)L gILmibd Byl 5 8.8,
pwedlds1i. ABSS! QT Q_giLipib Bwibi9 T .16, LwerASST. ST TDLIES

QL8605 aaIuaTeY SITd CSramamaia o o 2 'k

)
(A) 19 &.L5. (B) 12 §..8. 20
(C) 7 8).15. S.bee B o
i31. If ‘BOOK’ is coded as 43, what will be the code number for ‘PEN’ ?
(A) 53 (B) 33
35 (D) 43

(96 GHUEL® Gomfuieh ‘BOOK’ ereirigy 43 g5 @pluiLu@ib. 4G @omflude,
‘PEN’ erelioumminss @Gou_L1i@ib 2

(A) 53 (B) 33
(C),}/ (D) 43
132. Find the value of n, if 1 +2+ 3 + ...+ n = 666.
(A) 66 (B) 34 .

\(9/3:/6 (D) 38 123 2

(., 14243+, +n=666 erasfich, n-ufler BIIL STOTE- 00y )y = bk

(B) 34

(A) 66 S ‘ -

CES (D) 38 sz < /;‘%ﬁ' 2,9
Ver Y-

133. Choose the missing letter out of the given alternatives. )‘bﬁ‘/m

G’ H’ J’ M7 ?) V %!;,o“, tpb

(AT (B) S B4 2%

X ’ E]M'% 3 BI\EAA'%(A/\}:)REMY”

\% Os1@Q s L orHpSaed AU supsss CsipOs®ssab. =
SELILIL L

G, H,1,M,2,V (B) S

\\\(C) R P e e —— e e e et e e e e

— e st
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134. Which will come in the place of question mark (?) ? Find out from the options given :

135.

B N
e s s o — ——— T

DGJ, FIL, HKN, JMP, ?

(A) LON (B) LOQ  mym
(e

(C) LOM @){OR

G Oan@sésiu’_Berar allent_safleSmig, Gaserals@puil L QLS5 GU(HLD

CQurpssLomer allen_emw Csit6lsBEsatLb.
DGJ, FIL, HKN, JMP, ?

(A) LON (E;%Q
(C) LOM - (DY'LOR -
Match the following :

I) 100 Thousands a) 1 Billion
II) 1000 Thousands 7b) 10 Million

IIT) 1 Crore “\c) 1 Lakh
IV) 100 Crores d) 1 Million
I _-1I III 1V

‘AJC/ d b a
B)b a c d
(C)c a b d ;@%@
(D)d b a c Bt
AN GEEIER

I) 100 gy ufgid a) 1 19eveSlwesr
II) 1000 gy uflgib b) 10 heveSlwsetr
) 1Gsmg ¢ 1 @arew
IV) 100 Gsmy d) 1 deveSwesr

I III

(M
(B)b a d

(C)c a b d,
@d b a ¢

s S et S, M e, 1
———

e T —
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Observe the graph and answer the questions

. given bel
QgL @S SUNSEL, BBip Qg s, ow (136 — 137).

LpwallssaLb HHL @B Grarafsend@s (136 - 137)
BC Com % p e .
QBC ﬁﬂ;ﬁ;};g;mw}h rate in exporgs %3

0T O IDDIBID % aranisg) anmpn
325 T
&

20 +
%
G151
=
o |
el
3 5
-]
e 0 -
2 2.5
&0 -5 4

2001 2002 2003 2004 20 ! vz
S I A%
2002 2003 2004 -
2005 2006 2007 IR —,
year (eU(BL_Lb) a.% g :_]

.—-"/ ﬁ
v AT

136. During how many years was the growth rate above the average growth rate over the given /Q’

years ? «‘,)/
(A) one (B) two three (D) four

CsrREsLIUL L y@TBsale Fone auaniss) alRssms oI cidsenar
QY a@THFND uariss aNFsLd PS5 @)(FEFH ?
(A) epairmy (B) @uassa(® CVepeirmy (D) mreirg

137. During how many years was the growth rate below the average growth rate over the given

years ? E;?E’
(A) one (B) two  Elewt
three (D) four

C Qsr@ési L sy e saier sgmai aeniéd 0llGgsSms ol ciggmaT oy emESaRch

WaTER aNRSLD GPAUITS B)(BESS
(A) REtT (B) @UGWT@

S— _ . == e —— B T . M i e et s re— . F s Sa—— s, s S
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1A

138. 2% of2 =7

0.04 (B) 0.4 (C) 0.02 (D) 0.004
ST
(Qﬁ . (B) 0.4 (C) 0.02 (D) 0.004
: =ZE
139. Find the correct answer. Eé;;
Carpenter : Wood : : Tailor: ?
(A) Furniture (B) Dress Wh (D) Sewing
& Fflwnenr LuPemev Csiif6ls(BHSSHa LD,
SEFFT . IDISGHL oL eSGWEVHIFT @ ?
(A) wossmwnear (B) o emi_ @)éwﬁ ’ (D) ewsuwaev
140. Find x.
SHANKAR
- IAS ACADEMY
2x
X 30° s
ﬁ/{ 0 B
(A) 150° 50° (C) 180° (D) 30°

% X-GST LOGBILIL| FHTGCTTS.

150 = X

(C) 180° (D) 30°

(A) 150°

e e











